
SAP ABAP table BAPI_PI_TIMETICKET1 {Process Order Confirmation: Time Ticket Confirmation}

BAPI_PI_TIMETICKET1

ORDERID [CHAR (12)]

DEV_REASON [CHAR (4)]

PLANT [CHAR (4)]

CONF_QUAN_UNIT [UNIT (3)]

CONF_QUAN_UNIT_ISO [CHAR (3)]

CONF_ACTI_UNIT1 [UNIT (3)]

CONF_ACTI_UNIT1_ISO  [CHAR (3)]

CONF_ACTI_UNIT2 [UNIT (3)]

CONF_ACTI_UNIT2_ISO  [CHAR (3)]

CONF_ACTI_UNIT3 [UNIT (3)]

CONF_ACTI_UNIT3_ISO  [CHAR (3)]

CONF_ACTI_UNIT4 [UNIT (3)]

CONF_ACTI_UNIT4_ISO  [CHAR (3)]

CONF_ACTI_UNIT5 [UNIT (3)]

CONF_ACTI_UNIT5_ISO  [CHAR (3)]

CONF_ACTI_UNIT6 [UNIT (3)]

CONF_ACTI_UNIT6_ISO  [CHAR (3)]

CONF_BUS_PROC_UNIT1 [UNIT (3)]

CONF_BUS_PROC_UNIT1_ISO [CHAR (3)]

STD_UNIT1 [UNIT (3)]

STD_UNIT1_ISO [CHAR (3)]

STD_UNIT2 [UNIT (3)]

STD_UNIT2_ISO [CHAR (3)]

STD_UNIT3 [UNIT (3)]

STD_UNIT3_ISO [CHAR (3)]

STD_UNIT4 [UNIT (3)]

STD_UNIT4_ISO [CHAR (3)]

STD_UNIT5 [UNIT (3)]

STD_UNIT5_ISO [CHAR (3)]

STD_UNIT6 [UNIT (3)]

STD_UNIT6_ISO [CHAR (3)]

FORCAST_BUS_PROC_UNIT1 [UNIT (3)]

FORC_BUS_PROC_UNIT1_ISO  [CHAR (3)]

SUITABILITY [CHAR (2)]

WAGEGROUP [CHAR (3)]

BREAK_UNIT [UNIT (3)]

BREAK_UNIT_ISO [CHAR (3)]

AUFK

MANDT [CLNT (3)]

AUFNR [CHAR (12)]

 BAPI_PI_TIMETICKET1-ORDERID = AUFK-AUFNR 

0..N

0..N

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 BAPI_PI_TIMETICKET1-PLANT = T001W-WERKS 

0..N

0..N

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 BAPI_PI_TIMETICKET1-BREAK_UNIT = T006-MSEHI 

0..N0..N

 BAPI_PI_TIMETICKET1-CONF_ACTI_UNIT1 = T006-MSEHI 

0..N
0..N

 BAPI_PI_TIMETICKET1-CONF_ACTI_UNIT2 = T006-MSEHI 

0..N0..N

 BAPI_PI_TIMETICKET1-CONF_ACTI_UNIT3 = T006-MSEHI 

0..N
0..N

 BAPI_PI_TIMETICKET1-CONF_ACTI_UNIT4 = T006-MSEHI 

0..N
0..N

 BAPI_PI_TIMETICKET1-CONF_ACTI_UNIT5 = T006-MSEHI 

0..N0..N
 BAPI_PI_TIMETICKET1-CONF_ACTI_UNIT6 = T006-MSEHI 

0..N
0..N  BAPI_PI_TIMETICKET1-CONF_BUS_PROC_UNIT1 = T006-MSEHI 

0..N

0..N

 BAPI_PI_TIMETICKET1-CONF_QUAN_UNIT = T006-MSEHI 
0..N

0..N

 BAPI_PI_TIMETICKET1-FORCAST_BUS_PROC_UNIT1 = T006-MSEHI 
0..N

0..N

 BAPI_PI_TIMETICKET1-STD_UNIT1 = T006-MSEHI 

0..N

0..N

 BAPI_PI_TIMETICKET1-STD_UNIT2 = T006-MSEHI 

0..N

0..N
 BAPI_PI_TIMETICKET1-STD_UNIT3 = T006-MSEHI 

0..N

0..N
 BAPI_PI_TIMETICKET1-STD_UNIT4 = T006-MSEHI 

0..N

0..N  BAPI_PI_TIMETICKET1-STD_UNIT5 = T006-MSEHI 

0..N

0..N  BAPI_PI_TIMETICKET1-STD_UNIT6 = T006-MSEHI 

0..N

0..N

T006I

CLIENT [CLNT (3)]

ISOCODE [CHAR (3)]

 BAPI_PI_TIMETICKET1-BREAK_UNIT_ISO = T006I-ISOCODE 

0..N

0..N

 BAPI_PI_TIMETICKET1-CONF_ACTI_UNIT1_ISO = T006I-ISOCODE 

0..N

0..N

 BAPI_PI_TIMETICKET1-CONF_ACTI_UNIT2_ISO = T006I-ISOCODE 

0..N

0..N

 BAPI_PI_TIMETICKET1-CONF_ACTI_UNIT3_ISO = T006I-ISOCODE 

0..N

0..N

 BAPI_PI_TIMETICKET1-CONF_ACTI_UNIT4_ISO = T006I-ISOCODE 

0..N

0..N

 BAPI_PI_TIMETICKET1-CONF_ACTI_UNIT5_ISO = T006I-ISOCODE 

0..N

0..N

 BAPI_PI_TIMETICKET1-CONF_ACTI_UNIT6_ISO = T006I-ISOCODE 

0..N

0..N

 BAPI_PI_TIMETICKET1-CONF_BUS_PROC_UNIT1_ISO = T006I-ISOCODE 

0..N

0..N

 BAPI_PI_TIMETICKET1-CONF_QUAN_UNIT_ISO = T006I-ISOCODE 
0..N

0..N

 BAPI_PI_TIMETICKET1-FORC_BUS_PROC_UNIT1_ISO = T006I-ISOCODE 
0..N0..N

 BAPI_PI_TIMETICKET1-STD_UNIT1_ISO = T006I-ISOCODE 

0..N

0..N

 BAPI_PI_TIMETICKET1-STD_UNIT2_ISO = T006I-ISOCODE 

0..N

0..N

 BAPI_PI_TIMETICKET1-STD_UNIT3_ISO = T006I-ISOCODE 

0..N

0..N

 BAPI_PI_TIMETICKET1-STD_UNIT4_ISO = T006I-ISOCODE 

0..N

0..N

 BAPI_PI_TIMETICKET1-STD_UNIT5_ISO = T006I-ISOCODE 

0..N

0..N

 BAPI_PI_TIMETICKET1-STD_UNIT6_ISO = T006I-ISOCODE 

0..N

0..N

T421

MANDT [CLNT (3)]

WERKS [CHAR (4)]

LOGRP [CHAR (3)]

 BAPI_PI_TIMETICKET1-WAGEGROUP = T421-LOGRP 

0..N

0..N

T423

MANDT [CLNT (3)]

WERKS [CHAR (4)]

QUALF [CHAR (2)]

 BAPI_PI_TIMETICKET1-SUITABILITY = T423-QUALF 

0..N

0..N

TRUG

MANDT [CLNT (3)]

WERKS [CHAR (4)]

GRUND [CHAR (4)]

 BAPI_PI_TIMETICKET1-DEV_REASON = TRUG-GRUND 

0..N

0..N


